Answers to Homework Questions on Page 358
1. a) Average speed is measured over a finite (pre-determined) time interval, while instantaneous speed is the value at any given point within such an interval.

    b) Average speed is the same as instantaneous speed if the speed is constant over the time interval. As well, since over any interval where speed changes, the speed must at some time be both higher and lower than the average value, at one time at least, the instantaneous speed is the same as the average value.

2. a) The distance travelled by the car is greater.

    b) The car travelled the same distance in less time.

3. a) 5.2 km/h

    b) 14 km/h

    c) 7.6 km

    d) 4.8 h

4. 225 km

6. 76 km/h

8. a) 1.77s

    b) 1227 km/h

9. 300 m
For graphs, was the speed constant throughout the scooter trip? Graph (9.4) 

